SupTecT - PHYSICS

DAV TMTegnATIONAL  StHooL

pasignment oo L

cLass - TR

T
i

A /?;) abiele S8 mmeuin B e wlaendoa »fDaIJ/L
Tie o Lq,j)j At Lol O‘%t@—& ,é;o.:% o. wiela ool d
(o) Lero (o) TTA (ey A% (dy LA

Ly, : il - ;;tuz«n,wu Aol h -
Stope of e Y 1 ¥ tortion,
() e dateres () e

‘ A g, ’
{b) thae s »PIED-(‘_QHM @A) /icpj_.u:zf
g)uﬂ)g";& o b&‘d Ad .&/U‘ GJHMA 9 o Mﬁ' o a

wWAutly s oA ki a (/ Aorsloaat /L,u_ar.f 0'5’ o mf o . o
A plidL Aot Ko b-&ué s
(2 ot b R
Qg’”; FPBAFA oikin e peeadenadion, (Ol) ﬂrm,cw-uvﬁ oros

Dhea aundar o (\}»Jt) gyta;]p‘«, /»LP/\LQ&@__q | WL:L&L S
¢y ™

(o) s

- . " ofF VY
4 : £ - o AAOELD - PRl
rﬁvw\/mg__g' M ,:E;{J\_Q, TY l:‘—t—l_kd‘p_’ J é:'»& OLM {}/Wﬂ v ‘-QJV\t a LQ e"‘[ "‘—Q‘F

fo

(g

) ™M
N o

=

f{\) S% tie AOA- R/ BT D1n /L&,wﬁfmt A—Ga_cz,
f

ff';)

@) Jhe eatllh A Aew ol

1.

) m\& OR .LS VAN sy L loadar f:c‘ff.ﬁ-’\ .

g

procinti Wwa. to ound fro.

C%@J,b\/\c{ tbLQ S L |

SHerT AnNswer  Aueeriong .

" 0 s ] N G i
T e Tie R im0
) 3 ﬂ)kgv MW{- s E

vrd el u% Fire 98 Ao . e

&MJ Liag %ﬁi&t &bxc he Ztso ? TUJAJA t«ﬁ UGM/L OuAAAAnrLA

Wu, -JJQA,A.. wrolddd acrnag a4 RS QJG ’LQMBMV G]””)

kel 6l Owe oand »P«AJ.{)— ki fonadhie, pes houdh . W L

fe) i axes]ecaded w,@im/u

 (HPPTER  — MOTION s .- ek 71 d
MULTIPLE  CHOICE BUE STiong .
; Aodins #H

|

i

» g»‘g ” MUME{

i

Vedodd




o

&1

GAaANA Al AoBws, 2 }

o Bon  olajert Avoareds b vay G4 amd e auetien e
§ . | i # f ) LIy
94 . ket Ji Tlae owrarege ."5---9’1-""--'3‘—'?? “ﬁ diie e JJM._;@I' P {\wg = ony

b, ‘ dvonrellong ot 36 el Anseds ap Ao TT2Kanfg  as
!i | A wton relA z? A & A L?D £ g /
y s aecedeatin, 7 35 Plee  Aoume. oA

5 freondy . WHaod S s ] 7
. ? donfs™ =) mafs |
Ak s 3 Asd s, Mot A8 Ll /’MJIOLJ‘. ohacl . { 15 7?,5 g b [

5 I P&\ LAOKL CAX_/Q_LQ o8 atus Mwiﬁi"&vz\agﬁ %&A}m 1R K ,\! i

Steeonds . Colecdale (> Ha areteralion
; . +

{ ? ) e  dioddiiig AREAR d é‘ﬁ e

J {ﬁ ‘ W\_.i g T ! 5 —j\ :; ,.-‘,‘\.—}l:

”l!;r‘ %6 [‘CAM\_; &
i

il
AN

% Fie} " A=
CoA A Aok "ﬁ/&/vvul
a G o ) -3 ~ ) R
] ngt k,i.’b uLA G s d’" 1.4 0 "L! i »L; o 8 o L Ti :',.'\'JM,—E:' ;'{—1".:1(,« A, ”‘J’é f O ‘/ij 2
E; § ol .
Aok tonn Aeatl , oo nacede  didlamae wld

% e hoc % b
a ROANLA ./L'bl ‘:L {S-E—C/&M/GJ(_JL ? gi’ iﬁo w’? Jg

-l

fZONG,. Ansiner W@btﬁiz‘iﬁ)l\i._iw . ;_ |
_'L Lo ?K YT P o Aboonsy Ahae 7:\ c 4+ )
j,omimma o/6 . ho gﬁaég_é/bm enak L | ‘/,/
JUECVT S Caiwiﬂ Fire ,é",—i’;&tai gsg @ 4's
H Ate (n) ebC )

. T WJM;J(Z] - R geop "‘E F :
a!,g Corndain . ALy Jog =p—£m.ui,£ hii\

ot s tod Pl WN@:%L tia ﬂg% X o

D duadne e four oo degswdo. 2 i /” \

I
= ' A K f !
[]) b,r} ) &V\d C’LfV\-d lﬂm M{/\‘[‘;{ L ! ) X
l',; 1 . e e Aire  Loat "{’LMD ﬁiiggt"‘ﬂ%' ) ‘3 S?-?'/ : ' \
7 ) f] g N ' :
] -;.;: j 5 & 4 { \L
NP R S S —
= 4 6 8 1o

r . = e ()
: \fi\-@/ W‘!M (W)Y Q)\J‘ Gf M’ﬁ-‘ G LB ? {\‘(’\E AR DA, ']{"«t"ug‘a{_ﬁi.é;b@ Q’-J 6 _rlnis = —
) | b ’
K, C’fi\i\m OLLRJMt:ﬁ’W A iag man otiow - Q% i, Aok %j LA s
Mj\; uu D-W\,h bL\IJuﬁ W o B E, b c«,}c_a g AR ziu Jodn  Aoa Audore U



DAV INTERNATIONAL SCHOOL
ASSIGNMENT NO. 3

SUBJECT: PHYSICS CLASS : 9"
CHAPTER: FORCE AND LAWS OF MOTION DATE:
I MULTIPLE CHOICE QUESTIONS:

1L

111

1.
a)
b)
©)
d)
2

According to the third law of motion, action and reaction
Always act on the same body
Always act on different bodies in opposite directions -
Have same magnitude and directions.
Act on either body at normal to each other
The inertia of an object tends to cause the object
a) To increase its speed ¢) To decrease its speed
b) To resist any change in its state of rest or motion
The physical quantity which is a product of mass and velocity of a body is known as: )'

a) Inertia b) Momentum  ¢) Force d) Change in momentum ‘
The law that defines force and inertia is

a) 15’ law b) 2™ law ¢) 3 law d) none

A sw1mme1 swims due to _

a) Forward push of water on the swimmer c) eitheraorb

b) Buoyancy of water d) none of above

GIVE ONE WORD ANSWER FOR THE FOLLOWING:

ST SR

Law stating action and reaction are equal and opposite.

Product of mass and acceleration?

The masses of 2 objects are 2kg and 20kg. ‘which has greater inertia?
Force is a scalar or vector quantity?

What is the S.I unit of momentum?

ANSWER THE FOLLOWING QUESTIONS:

Momentum of a body of mass 4kg is 24kgm/s. Find its velocity.

There are three solids made up of aluminium, steel,and wood, of the same shape and
samé ghape and same volume. Which of them would have highest inertia?

A feather of mass 10g is dropped from a height. It is found to fall down with a constant
velocity. What is the net force acting on it?

What is the momentum of a man of mass 75kg when he walks with a velocity of 2m/s.
What is acceleration produced by a force of 12N exerted on an object of mass 3kg?



Iv.

13.

14.

1.3

A body of mass 2kg moving with a velocity of 10m/s is brought to rest in 5 sec. calculate
the s‘téppmg force applied.

What would be the force required to produce an accelelatlon of 2m/s* in a body of mass
12kg? What would be the acceleration if the force were doubled?

It is easier to push an empty box than to push the box full of books. Why?

When two bodies A and B interact with each other, A exerts a force of 10N on B, towards
east. What is the force exerted by B on A?

. The car A of mass 1500kg , travelling at 25m/s collides with another car B of mass

1000kg travelling at 15m/s in the same direction. After collision , the velocity of car A

becomes 20m/s. calculate the velocity of car B after collision. (22.5m/s)

. A 10g bullet is shot from a 5kg gun with a velocity of 400m/s. what is the speed of recoil
of the gun? (-0.8m/s)

. A 150g ball travelling at 30m/s strikes a palyer’s hand and is stopped in 0.06sec. find the
time taken by the body to move through a distance of 12m. (-75N)
Calculate the force required to impart a car a velocity of 30m/s in 10sec. the mass of car
is 1500kg. (4500N)

A motorcar is moving with a velocity of 108km/hr and it takes 4sec to stop after the
brakes are applied. Calculate the force exerted by the brakes on the motorcar if its mass
alongwith the passenger is 1000kg. (-7500N)

Which would require a greater force : accelerating a 2 kg mass at 5m/s® or a mass at
2m/s’,

VALUE BASED QUESTION:

1.

A body at rest continues to be at rest unless some external force is applied to move it.
Rather, the body at rest opposes the force that tends to move it. Left to itself, the body at
rest, will never start moving. This is well known property of inertia of rest of bodies,we
study in physics.

Read carefully the above passage and answer the following questions:

a) When a bus starts moving suddenly, the passengers tend to fall backwards. Why?

b) Give one more example of inertia of rest.

c) What values do you inculcate in life from this study?
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‘{ﬁj i 3 Diensity = mlume/(m'lsa ;2

{c) Dens sl" e umf»mw,nhmm (d} E’"!“; sity = tvolumey /mass

2. The 8.1 unit of density is:

(a) E‘{ o/ (b) K.g/m’ ) Kg/m® (d)Kg

3, By doubling the m 55 of a solid body, its density become

{a) 2 times {m /5 (c) 4 dimes  (d) remains | _:i'xr;- S,

4o A ghm can casily sail on sea water due to the reason that

# 13 denser than ovdinary watet {"
r is lighter than ordinacy water ' ,
aing salt
i3 salm as compared 1o ordinary water.

oy, IV IR ANSWER FOGR THE FOLLOWING:

i Name two factors on which the buoyant foree ac ting on an object depends,

5 YWhat is the telationship between buoyant force on an object and the liguid c.!:isaizu*eihy it?

3 317 in air and 9.%‘-?"1: wl}:: a fully immersed in water. How mucl is the buoyart
117, VNG QUESTIONS:

E vim in 3en water (han in river water?

< it related to pressure? Give their units.

3 13 thres 1t practical sspecis of pressure relaied to daily life.

4. A wooden bl w:'. of dimengions of 10cm X 20cm X 50cm weighs 6.5kg. caleulat: the density of

the block.

5 p sobid body of mags 4.0 X 10 g and volume 2m” is put in walay., Will the body Boat or sink?

v BASRD OUEST

-l and o bodies d

2} What is ihe approximate density of your body?
1) What ig your approximate volume?
he magnitude of the buoyant force on your due to the air displacec. Consider your

i)
raass to be 73kg.

{(d) Does i mean that your we st i more than the scale reading?

igh




